. e ERCZ 8 b sl LA Wi S
balsa ey
W "

Mathh 206 - Howewvos e # 9
gOlAA‘\"foMS

1) AURE Ej_ § (4 - k7) C ul-grlas
A ;
stY(s) — s.-alo)_. ?/lo) + Ys)= i e-sk'ﬂt
k-0
= -skw

(s"+t)\(cs)= S

=0

as ~shkx

Nigy= 2

s O

s%et

£ .

Lyl o T sia(okw). H(-k)
k=0

4o T g (b Hlobm) o I 500 (oke s (4 -lw)
beo ..
oo S(_,L—W)
= 3 sia(ku-kw) = o
lc =0

YW= S cos (-\m) H (4 -lew)

ll--sO
o 00
RICE S —swa (4-km) W (+-kw) + l‘Z_ Cos (L -lew) §(+-kw)
k=0 ‘/—)—\/’—‘
= Z? ws(lcw—lc—u).SH-‘W)
“-20
= 5 §(k-ln)
ko
‘3.1(4'): — 2 sva(b=kn) HlL-kn) 4 Lz: § (4 k)
l‘-l-o . ao



%nmﬂau) Z b (4 -lew) H (F-Leor) - Zsmu L) H (4 - L)

keo o

+ 3 s ~loex )
keo

= - QUL '\lu)
Z. v

4 lo) = >~ sn (o-ka) H{o-kw) = o v

l‘go V\/_\‘
(-} 0

"lo) = { Cos (o—loa) H (o-ker) = © v’

L Weo ' —— VT N—
)< o WAED
(~1)
2‘) f('”: H(-‘—)*—H({_‘)"'Hu—z)—3”(4_“,)
‘ - —
ﬁ{fﬂr)} F(s) - <+ gT-‘+ CTZS _, .&_._‘”
s
‘3" (+) —3\1'({’) + 22 (4 =7C(+) ‘3“’: y'l0) =

4

5> Y (5) —/s\gt/,ﬂ—%- %Y (s) 1—%/6)4+ 2Y(s)= FLs)

(s‘-ss +2) Y(s) = Fis)

vy £ L _F e | L
&% 3512 (50 (s-2) S-o P

-5 -2 ,.l(_s-
Vigye —— + &7 4+ & — _3 e
s (s-2) sls-2) s(s-2) sls-2)
-2
J e’ e = + e 43




{ 2(4-2) 2
s (C "] -0 - £ [6 e \J H(t-1)

- [e*—l] H(+) - [‘6 u-u—lJH‘“-l) - f€(+'l)_‘}

b (-1 +3 Te* 21wt

7} /
;) X --;X +a’+ 2)(-—‘3:‘.0 xlo) =0 , 2’ (o)== I

XI"'V}’ - AX 't‘]’::O 3 led =~

5% X(s) _)}a’)/-%o)/qugs X(s) —r/a{r sYls) - g'[;) + 2X15)-YIs)=0

sX(s)-/ew(+ $Y(5) - ylo) = 2XLs) +Y(5)= ©
e |

X %) (;’-~3s -t-l)+ YCs) (s—t) = - |

X0) ($-2) 1 ¥ils) (s+1) == = X s-2)= =1 -VYIs)(5+)

X(s) Cs=2)(s-1) 4 VYI(s)(s-1) = =1
v Ne——

- =YI$)(5¢1)

—(5=1) = Ys)[ s+1)[s1) + Y($) (s-1) = - |



- S !
Sty = & T 5
W= -2 Y + et K1Y

= H(H. {\5*"-;

Xs) (s*- 35+2) 1 Y(s5)(s—1)= - |

——
Y Y
5(s-1)
XU)(s-1)(5-2) = -+ 22 = =2
S
Kish . o2 w0y f
s(s-1)(s-2) s S-1 S-2_

xiH= ~ H + 2t HEH) = > Wy
~ -H(J/)(ez"-zeur)

= - H{+ (e*—«)l

4) fisfo o i vnGE
=9 (Bt (§=9)°
: . -
d ( by o O g & s -t (
ds\ s™9 (5+9) "
;’:iu: - :\_Lq('ﬂl) 3 "é%lﬂ)'
5%9) SR




l
= [ %_i ( a-g)% = ..JcT.;M 34
3 | £ 4
L"{_—_L,_1‘§:J_ J—U\?w\%uév\ ——_’_Su;\.\ﬂywk
kﬁl*Q) A 6 /
| 4
= — tcos 3t 3 Swa 3F
2$-5 -1 28 -|< — 1
A &t * A 2
(s”«e)‘) s (Qm)) (s+°)))

+ S Los(34) -5 sl
-}-’ym(ﬂ')i"g s (3%) o )

V}" +13' t v bn t Yle)=3 \3’(0)- [

Y(s) ~syto) - yllo) + 2Y($) —Z\a,(o) + Y (5) = §1|
t

LS‘(“()I Y(s, - 35 -3 = ____’
¢

)= 3513 | .
64!)7' 5™V ((&l)




T
S5« =~ S r St2

(sed” 2(5"¢t) 2(s+1)"

Feeld - s

———

2[(sx1)> 2(5™%1)

-=.--—-'?-"_ + -




	hw9sol_Page_1_Image_0001.jpg
	hw9sol_Page_2_Image_0001.jpg
	hw9sol_Page_3_Image_0001.jpg
	hw9sol_Page_4_Image_0001.jpg
	hw9sol_Page_5_Image_0001.jpg
	hw9sol_Page_6_Image_0001.jpg

